

A Giving Circle and Fund of the Northwest Maritime Center

We are a maritime philanthropic group whose goal is to provide resources that advance maritime education programs as well as promote and honor adventure and exploration. We are passionate about working together to provide the funding needed for women and girls to discover their most authentic and strongest selves.



Giving Circle PROGRAM DETAILS

Gifts to the Give Like a Girl Fund will support:

SCHOLARSHIPS FOR WOMEN AND GIRLS: We will provide scholarship funding to sailing and maritime-related programs offered by the Northwest Maritime Center in Port Townsend and select organizations across Washington State. Women and girls represent only 2.5% of WA state maritime professionals, our goal is to change this! We are offering scholarships to women and girls, transgender, and non-binary individuals.

NORTHWEST MARITIME CENTER EDUCATION PROGRAM SUPPORT:

We will provide funds to help sustain Northwest Maritime Center maritime education programs for people of all ages.

WOMEN'S MARITIME ADVENTURER AWARD: This prestigious annual award is designed to provide well-deserved recognition to individuals or teams that have completed maritime adventures with special distinction.

WOMEN'S ADVENTURE FUND: This fund will support women or women-led teams, expeditions, etc., that have an awesome, outrageous plan for adventure.

WOMEN'S PROFESSIONAL MARITIME ACHIEVEMENT AWARD: This prestigious annual award is designed to recognize and celebrate women who have made significant achievements in a maritime profession.

WEEKEND WOMEN'S SKIPPER TRAINING PROGRAM AND REGATTA:

To address the need for more women skippers who are qualified to lead race teams, we will conduct Skipper Training Classes over an extended weekend followed by a regatta on Port Townsend Bay.



Annual Goals

GIVING LEVEL	NUMBER OF GIFTS	GIFT TOTALS
\$5,000	14	\$ 70,000
\$2,500	20	\$ 50,000
\$1,000	25	\$ 25,000
\$500	30	\$ 15,000
\$250	40	\$ 10,000
\$100	50	\$ 5,000
TOTAL:		\$ 175,000

BUSINESS/CORPORATE SPONSORSHIP LEVELS:

\$20000 Lead Presenting Sponsorship \$10000, \$7500, \$5000 and \$2500

Northwest Maritime Center (FEIN # 91-1931643) is a 501(c)(3) non-profit organization, and your contribution may therefore be tax-deductible to the extent allowed by law. Please make checks payable to the Northwest Maritime Center and indicate on the notation section, "Give Like a Girl".















About the

Northwest Maritime Center

Located in Port Townsend, WA, the Northwest Maritime Center's mission is to engage and educate people of all generations in traditional and contemporary maritime life, in a spirit of adventure and discovery. We're many things, and at our core we are a campus that uses powerful maritime experiences to educate, inspire people to adventure, and celebrate our maritime culture. We do it for our own love of boats, in service to the local community and maritime industry, but mostly because regardless of the subject, the sea is the most powerful teacher we know.

We are also the creators and managers of two unique races, the Race to Alaska (Port Townsend to Ketchikan) and SEVENTY48 (Tacoma to Port Townsend), and the proud stewards of the world-renowned Port Townsend Wooden Boat Festival.

Northwest Maritime Center 431 Water Street Port Townsend, WA 98368

nwmaritime.org

lisa@nwmaritime.org len@nwmaritime.org

Photo credits:Katrina Zoë Norbom, Liv von Oelreich and Larry Pepper